14:26:39 12/27/2018	Public Improvement Assessment R	coll by Address Project: Ratification Date: Resolution	19230C Assm	nt: 196001	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Camille Aw Chasteen	BEDNEY'S ADDITION PART OF LOTS 2		1,700.00	1.00	\$1,700.00	24-29-23-31-0008
408 Arlington Ave W	AND 3 BET 2 LINES RUN SELY FROM POINTS ON N LINE OF BLK 1 AND 15	Service Replacement	45.00	0.00	\$0.00	
St Paul MN 55117-4241	FT AND 54 FT E FROM NW COR OF	City Processing Fee	1.00	136.00	\$136.00	
*408 ARLINGTON AVE W	LOT 3 TO POINTS ON SELY LINE OF			-	\$1,836.00	
*Ward: 5	SD BLK 1 AND 42 FT AND 102 FT	*** Owner and Taxpayer ***				
*Pending as of: 5/18/2018						
Anne Mcinerney	VETERANS ADDITION LOT 9 BLK 1	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-31-0027
Michael Mcinerney		Service Replacement	45.00	31.00	\$1,395.00	24-27-25-31-0027
1391 Arundel St		City Processing Fee	1.00	247.60	\$247.60	
St Paul MN 55117-4242		-		=	\$3,342.60	
*1389 ARUNDEL ST		*** Owner and Taxpayer ***			\$5,542.00	
*Ward: 5		F.J.				
*Pending as of: 5/18/2018						
rending as of: 5/10/2010						
Gary J Follett	COTTAGE HOMES PART LYING SELY	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-31-0001
Marcella M Otypka	OF WHEELOCK PKWY & NWLY OF A	Service Replacement	45.00	120.00	\$5,400.00	2.29 20 01 0001
426 Wheelock Pkwy W	L 175 FT SELY OF & PAR TO SE L OF SD PKWY OF W 85 FT OF E 118 FT OF	City Processing Fee	1.00	568.00	\$568.00	
St Paul MN 55117-4257	LOT 4			=	\$7,668.00	
*426 WHEELOCK PKWY W		*** Owner and Taxpayer ***			47,00000	
*Ward: 5		1 3				
*Pending as of: 5/18/2018						
Julie L Sparrow	BEDNEY'S ADDITION PART OF LOT 3	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-31-0009
433 Wheelock Pky W	WLY OF A LINE RUN FROM POINT ON	Service Replacement	45.00	2.50	\$112.50	2 <del>4</del> -2 <i>3</i> -23-31-0003
St Paul MN 55117-4256	N LINE OF AND 15 FT FROM NW COR	City Processing Fee	1.00	145.00	\$145.00	
*433 WHEELOCK PKWY W	TO POINT ON SELY LINE OF AND 42 FT FROM SW COR THEREOF AND ALL	, 6		=	\$1,957.50	
*Ward: 5	OF LOT 4 BLK 1	*** Owner and Taxpayer ***			\$1,737.30	

\*\*\* Owner and Taxpayer \*\*\*

\*Ward: 5

14:26:39 12/27/2018	Public Improvement Assessment Roll by Address Ratification Date:  Project: 19230C Assmt: 196001 Manager: LM Resolution #:				Page 2	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Julie A Hubbard James Hiller 439 Wheelock Pky St Paul MN 55117-4256	BEDNEY'S ADDITION EX N 127 16/100 FT LOT 5 AND EX WLY 29 FT LOT 6 BLK 1	Excavate, Replace Connection Service Replacement City Processing Fee	1,700.00 45.00 1.00	1.00 7.00 161.20	\$1,700.00 \$315.00 \$161.20 \$2,176.20	24-29-23-31-0018
*439 WHEELOCK PKWY W  *Ward: 5  *Pending as of: 5/18/2018		*** Owner and Taxpayer ***				
Lynn M Belgea 445 Wheelock Pky W St Paul MN 55117-4256	BEDNEY'S ADDITION WLY 29 FT OF LOT 6 AND ALL OF LOT 7 BLK 1	Excavate, Replace Connection Service Replacement City Processing Fee	1,700.00 45.00 1.00	1.00 3.00 146.80	\$1,700.00 \$135.00 \$146.80	24-29-23-31-0017
*445 WHEELOCK PKWY W *Ward: 5 *Pending as of: 5/18/2018		*** Owner and Taxpayer ***		-	\$1,981.80	
Christopher J Ohland Jennifer L Ohland 470 Wheelock Pky W St Paul MN 55117-4258 *470 WHEELOCK PKWY W *Ward: 5 *Pending as of: 5/18/2018	COTTAGE HOMES SUBJ TO WIDENED WHEELOCK PKWY PART OF LOT 17 SELY OF ORIG PKWY AND NELY OF L RUN NWLY FROM SE COR AND AT ANGLE OF 43 DEG 28 MIN FROM S L OF SD LOT 17	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,700.00 45.00 1.00	1.00 1.00 139.60	\$1,700.00 \$45.00 \$139.60 \$1,884.60	24-29-23-31-0069
Orville K Wold Trustee C/O David T Wold 1658 Lake Johanna Blvd Arden Hills MN 55112-3669 *474 WHEELOCK PKWY W	COTTAGE HOMES EX W 135 FT PART OF LOT 17 SELY OF WHEELOCK PKWY AND SWLY OF L RUN NWLY FROM SE COR OF AND AT ANGLE OF 43 DEG 28 MIN FROM S L OF SD LOT 17 AND EX W 135 FT THE N 250 FT OF	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,700.00 45.00 1.00	1.00 1.00 139.60	\$1,700.00 \$45.00 \$139.60 \$1,884.60	24-29-23-34-0005

\*Ward: 5

14:26:39 12/27/2018	Public Improvement Assessment Roll by Address Ratification Date:  Project: 19230C Assmt: 196001 Manager: LM Resolution #:				Page 3	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit Rate	<b>Quantity</b>	<b>Charge Amts</b>	Property ID
John B Mischke	COTTAGE HOMES EX THE W 55 FT,	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-34-0041
Sherie Bosak	THAT PART OF THE W 135 FT OF LOT 17 LYING SLY OF WHEELOCK PKWY	Service Replacement	45.00	93.50	\$4,207.50	
821 Raymond Ave Ste 300	& EX THE W 55 FT, THE W 135 FT OF	City Processing Fee	1.00	472.60	\$472.60	
St Paul MN 55114-1525	THE N 250 FT OF LOT 29			_	\$6,380.10	
*480 WHEELOCK PKWY W		*** Owner and Taxpayer ***				
*Ward: 5						
*Pending as of: 5/18/2018						
Keith A Manders	WHEELOCK VIEW LOT 1	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-33-0016
Mary C Manders		Service Replacement	45.00	24.50	\$1,102.50	
518 Wheelock Pky W		City Processing Fee	1.00	224.20	\$224.20	
St Paul MN 55117-4212				_	\$3,026.70	
*518 WHEELOCK PKWY W		*** Owner and Taxpayer ***				
*Ward: 5						
*Pending as of: 5/18/2018						
Barbara A Nelson	SCHLETTI'S THIRD ADDITION LOT 1	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-33-0018
534 Wheelock Pky W		Service Replacement	45.00	28.00	\$1,260.00	2123200000
St Paul MN 55117-4214		City Processing Fee	1.00	236.80	\$236.80	
*534 WHEELOCK PKWY W				=	\$3,196.80	
*Ward: 5		*** Owner and Taxpayer ***			. ,	
*Pending as of: 5/18/2018						
Patrick M Coyne	WHEELOCK HEIGHTS LOT 12	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-32-0088
Jenifer S Coyne		Service Replacement	45.00	11.50	\$517.50	=
539 Wheelock Pky W		City Processing Fee	1.00	177.40	\$177.40	
St Paul MN 55117-4215				=	\$2,394.90	
*539 WHEELOCK PKWY W		*** Owner and Taxpayer ***			. ,	
TI TILLED CHILLY I		1 2				

\*Ward: 5

14:26:39 12/27/2018	Public Improvement Assessment	Roll by Address Project: Ratification Date: Resolution	19230C Assn n #:	nt: 196001	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Whitney Starkey	WHEELOCK HEIGHTS LOT 13	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-32-0089
1840 Sioux Blvd		Service Replacement	45.00	11.00	\$495.00	
New Brighton MN 55112-7233		City Processing Fee	1.00	175.60	\$175.60	
*545 WHEELOCK PKWY W					\$2,370.60	
*Ward: 5		*** Owner and Taxpayer ***				
*Pending as of: 5/18/2018						
Caleb K Klinge	WHEELOCK HEIGHTS LOT 14	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-32-0090
Laura S Klinge		Service Replacement	45.00	12.00	\$540.00	24-27-23-32-0070
549 Wheelock Pkwy W		City Processing Fee	1.00	179.20	\$179.20	
St Paul MN 55117-4215					\$2,419.20	
*549 WHEELOCK PKWY W		*** Owner and Taxpayer ***			Ψ2,117.20	
*Ward: 5		1 3				
*Pending as of: 5/18/2018						
Anthony Nelson	SCHLETTI'S THIRD ADDITION EX W	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-33-0021
Marie Nelson	60 FT LOT 4	Service Replacement	45.00	26.00	\$1,170.00	2. 23 20 00 0021
552 Wheelock Pky W		City Processing Fee	1.00	229.60	\$229.60	
St Paul MN 55117-4214					\$3,099.60	
*552 WHEELOCK PKWY W		*** Owner and Taxpayer ***			, - ,	
*Ward: 5						
*Pending as of: 5/18/2018						
Chad A Macheel	FIEDLER'S SUBDIVISION EX N 18 FT	Excavate, Replace Connection	1,700.00	1.00	\$1,700.00	24-29-23-32-0113
Deborah A Carlson-Doom	FOR ALLEY LOT 2	Service Replacement	45.00	7.50	\$337.50	27-27-23-32-0113
567 W Wheelock Pkwy		City Processing Fee	1.00	163.00	\$163.00	
St Paul MN 55117-4217		- 5			\$2,200.50	
*567 WHEELOCK PKWY W		*** Owner and Taxpayer ***			Ψ2,200.30	
307 WHEELOCKIKWI W						

\*Ward: 5

14:26:39 12/27/2018	Public Improvement Assessment Roll by Address Ratification Date:  Project: 19230C Assmt: 196001 Manager: LM Resolution #:					Page 5	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>	
Cameron B Divertie Dorene J Divertie 571 Wheelock Pky W St Paul MN 55117-4217 *571 WHEELOCK PKWY W *Ward: 5 *Pending as of: 5/18/2018	FIEDLER'S SUBDIVISION EX N 18 FT FOR ALLEY LOT 3	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,700.00 45.00 1.00	1.00 14.00 186.40	\$1,700.00 \$630.00 \$186.40 \$2,516.40	24-29-23-32-0114	
James D Diebel Sarah I Diebel 573 Wheelock Pky W St Paul MN 55117-4217 *573 WHEELOCK PKWY W *Ward: 5 *Pending as of: 5/18/2018	COTTAGE HOMES EX PKWY THE E 67 5/10 FT OF S 212 FT OF W 1/2 OF LOT 13	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,700.00 45.00 1.00	1.00 15.50 191.80	\$1,700.00 \$697.50 \$191.80 \$2,589.30	24-29-23-32-0115	
Jayne Windnagel 581 Wheelock Pkwy W St Paul MN 55117-4217 *581 WHEELOCK PKWY W *Ward: 5 *Pending as of: 5/18/2018	COTTAGE HOMES E 67 5/10 FT OF W 97 5/10 FT OF S 152 FT OF N OF PKWY OF LOT 13	Excavate, Replace Connection Service Replacement City Processing Fee  *** Owner and Taxpayer ***	1,700.00 45.00 1.00	1.00 16.00 193.60	\$1,700.00 \$720.00 \$193.60 \$2,613.60	24-29-23-32-0116	
Total Excavate, Replace Connection: Total Service Replacement: Total City Processing Fee:	\$32,300.00 \$19,125.00 \$4,114.00						
Project Total:	\$55,539.00	Davidantial Frants	45.00	425.00	¢10 125 00		
Less Total Discounts:	\$0.00	Residential Frontage:	45.00	425.00	\$19,125.00		
Project Total:	\$55,539.00						
10 D (V)							

19 Parcel(s) 0 Cert. Exempt Parcel(s)